MARIS STELLA HIGH SCHOOL (PRIMARY)
CONTINUAL ASSESSMENT 1
PRIMARY 6 MATHEMATICS
1 MARCH 2022
PAPER 1
(BOOKLET A)

15 questions
20 marks
Total Time for Bookleis A and B: T hour
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IHSTRUCTIONS TO CANDIDATES

1. DO NCOT OFPEN THIS BOOKLET UNTE YOU ARE TOLD TO DO SO,
i FOLLOW ALL IMSTRUCTIONS CAREFILLIY,

3, ANSWER ALL QGUESTIONS.

4. SHADE YOUR ANSWERS iN THE OPTICAL ANSWER SHEET (OAS) PROVIDE

5. YOUARE NOT ALLOWED TO USE A CALCULATOR.






Questions 1 to 10 carry 1 mark each. Questions 11 fo 15 carry 2 marks each. For each
question, four options are given. One of them is the correct answer. Make your cholce
(1, 2, 3 or 4) and shade your answer on the Optical Answer Sheet. (20 marks)

1. Round 876 594 to the nearest thousand.

(1) 870000
(2) 876000
(3} 876600
{4y 877000

2. 9 hundreds, 4 tenths and 5 thousandths is

(1)  940.005
(2)  800.540
(3) 900.405
(4) 500.045
3. Which of the following fractions Is greater than '}» ?

(1
2

3

iim Qo b DN

(4)



Which of the shapes below is a rhombus?

(N @

3) 4 -~

After making a % —turn in a clockwise direction, Susan is facing North-east. in which

direction was Susan facing at first?

(1) South-west
{2) South-east
{3} North-west
{4) East

Hakim paid $8 for 20 pencils. What was the cost of each pencil?

() $0.28
(2)  $0.40
(3) - $250 -
(4)  $4.00



7. Which of the following would most likely be the height of the door of a classroom?

() 24m
(2) 21cm
3) 2im
4) 2tem
8. A machine can produce 80 cans in 3 minutes. At this rate, how many cans can it

produce in 2 hours?

(1) 1600

(2) 3200

(3) 4800

(4) 9800

: 3

9. How many two-sighths are there In '13 ?

(1) 6

2 7

3y M

4y 14
10 The rectangular tank below is %ﬂf{ed with water. How much more water is needes

to il the rectanguiar tank to the brim?

{1 48 cm®

(2} 144com® 9 cin
{3y 288cm?
(43  432.cmd

4 cm




1.

12.

The rates of charges for taxi fare in a certaln town are shown in the table.

.l

| Up io firstkm, $2.60

For évery additional km of part thereof $0.50

How much is-Mr Fauzi's taxi fare for a journey of 7% km?

(1)

@)
@)
)

$5.85
$6.10
$6.60
$18.20

Efsa only had the following coins. She used 3 of the coins to pay for an eraser without
recelving any change. How much did she pay for the eraser?

(1)
(2)
(3)
)

$1.75
$1.20
$0.65
$0.45

$1

In the figure below, AB and CD are straight lines, Find 2Zx

(1)
(2)
(3)
4

83°
46°

25°



In the figure below, PU = US = QV = VR. T is the midpoint of PQ. Given that the
area of the rectangle PQRS is 720 cm? and the area of triangle PTU is 80 cm?, find
the area of triangle TUR.

P _ T Q
80 om? -

U v

S R

(1) 90cm?

(2) 180cm?

(8} 270cm?

(4) 360cm?

Ahmad and Bryan saved $1260 altogether. %of Ahmad’s savings is equal to%of
Bryan's savings. How much money did Bryan save?

(1) $140
(2)  $560
(3)  $700
(4) %300

End »f Baoklet A
Go on to Booklet B
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INSTRUCTIONS TO CANDIDATES

1. DO NOT OPEN THIS BOOKLET UNTIL YOU ARE TOLD TO D( SO.

2. FOLLOW ALL INSTRUCTIONS CAREFULLY.

3. ANSWER ALL QUESTIONS.

4. SHOW YOUR WORKINGS CLEARLY AS MARKS ARE AWARDED FOR CORRECT
WORKING.

5. WRITE YOUR ANSWERS IN THIS BOOKLET.

8. YOU ARE ALLOWED TO USE A CALCULATOR.
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Do not
write in
this

space.

Questions 1 to § carry 2 marks each. Show your working clearly in the space provided for
each question and write your answers in the spaces provided. For questions which require
units, give your answers in the units stated. : (10 marks)

1. The graph below shows the number of cookies sold in a bakery from Wednesday fo

Friday in a week.
Number of cookies sold
80 ; :
60 ‘ :
A {
40—fmd
L ﬁ
20—t
4 i
o H d B LitiSs =
Tuesday Wednesday Thursday Friday
The average number of cookies sold from Wednesday {o Friday in the week
was equal to the average number of cookies sold from Tuesday to Friday. How
many cookies were sold on Tuesday?
Answer:

A cortiaine: waséﬁ;‘ied with water ai first. When 960 o inore waler was poured !
p & " - H 2o . 3 3 3 H ES T 2 oo L A T ol i
into the container, § became 7 filled with waier. What was the capacily of the
coniainer? Leave vour answer in litres.

i Lo Ak
L s . |
LEow fo (G2 i
. H
VRS IR I
Answer. _ £
1 SCORE

(Go on {o the next page)




3.

In the figure below, a rectangular piece of paper is folded along VR as shown.
Find ZRXS.

R

Answer;

Do not
wrile in
this

space.

4,

Aminah bought some blouses at an average price of $12. Then, she decided to buy
3 more biouses at $18 each. The average price of all the blouses increased by $2.

Find the total number of blouses she bought at first.

Answer:

SCORE
{Go on to the next page)




5. The graph below shows the number of fruits sold in a week.

800 -
500 - //\\
£ 1N
/ \
/ \
400 // \\
7 s
N p
AN 7
Number 300 // \\
of fruits 7 \ pd
Fi ‘ N2
A N
200 -+
100 41— .
0
Apple Banana Orange Pear Mango
Type of fruils

The number of mangoes sold in the week was %of the total humber of fruits sold.

How many mangoes did the shop sell for the week?

Answer:

Do not
write In
this

space.

3 SCORE
(Go on fo the next page)




For Questions 8 to 17, show your working clearly in the space below each question and | Do not
write your answers in the spaces provided. The number of marks avallable is shown in the | write In

brackets [ ]at the end of each question or part-question, (45 marks) ggzce
! .
6. 25 of the people in a stadlum are men. The rest are boys, girls and women In the

ratio of 2 : 3 : 4. There are 1600 people in the stadium.

(a) What percentage of the people in the stadium are children and women?
(b} How many children are there in the stadium?

Answer: (a) [t

(b) (2]

4 SCORE
{Go on fo the next page)




7. Tom had 384 more stickers than Mala. After Mala gave Tom 244 of her stickers, she | Do not

. write in
had %as many stickers as Tom. How many stickers did Tom have at first? this

space,

Answer: [3]

5 SCORE
{(Go on to the next page)




8.

Minghua spent some money on 22 pens. He spent the same amount of money on | Do not
write In

another 16 notebooks., Each nofebook cost $0.45 more than each pen. How much
did Minghua spend altogether? g;‘zca

Answer: [3]

9.

IIsa spent 5 days folding paper cranes for her fiends. Every day, she managed to
fold 2 more paper cranes than the day before. She folded 35 paper cranes

altogether. How many paper cranes did she fold on the third day?

Answer: _ 3]

SCORE
{Go on to the next page)




10.  Two Identical triangles overlap sach other as shown In the figure. The area of the | Do not
shaded part is 66 cm? What is the area of the figure that is not shaded? ;’;f‘{ﬁe in

is
space.

.
~
25 cm i
Answer: {3]
7 SCORE
{Go on to the next page)




Raju used g— of his money 1o buy some shirls and % of the remainder {o buy 2 pairs

Do not

H. write in
of pants. A pair of pants cost 3 times as much as a shirt, this
' space.
(a) How many shirts did he buy?
(b) Raju had $252 left. How much did each shirt cost?
i
Answer: (a) {1
{b) [3]
8 SCORE

(Go on 1o the next page)




12,

Ahmad,_ Bala and Charlie baked sbme cookies, Ahmad baked % of the cookiss, Bala

and Charlie baked the remaining, cookies in the ratio of 3 : 5. Charlié baked 405.
more cookies than Ahmad. Ahmad ate 6-of the cookies he had baked and packed all
the rest of his cookies into bags of 12. How many bags of cookies were there?

Answer: [4]

Do not
wiite in
this

space,

g SCORE
{Go on {0 the next page)




13.  Afruit stall had some red and green apples in the rafio of 3. 5 respectively. Dq not
%of the red app!és and 323* of the green apples were sold. m?ée n
: space.
{a) What was the ratio of the number of red apples 16 the number of green apples '
left?
(b) There were 165 apples left. How many red and green apples were sold

altogether?

Answer: (a) 12}

{b) 2l

10 SCORE
(Go on to the next page)




14.

3
A rectangular tank measuring 60 cr by 50 cm by 30 cm was —5- filled with water,

When 8 full pails of water were removed from the tank, the water fevel dropped fo
12 cm when measured from the base of the tank.

(a) How many litres of water was in the tank at first?
{b) Find the capacity of each pail in litres.

Answer: (a) (1]

(b) (3]

Do not
write in
this

space.

11 SGORE
{Go on to the next pags)




15.

Four identical right-angled tlangles are aranged to form a square ABCD as
shown below. The shaded area of the figure is 1080 cm?. AE is 15 om. Find the

area of square EFGH,

Answer

(4]

Do hot
write In
this

space,

12

SCORE
(Go on to the next page)

-




186.  In the Science Club last vear, *% of the members were boys. After 45 mote girls \Sgtg?;ix

joined the CCA this year, the ratio of the number of boys fo the number of girls in the | this
: A space.
CCA became 6 : 17.

(a) How many members were in the Science Club last year?
(b) How many more boys must join the club this year so that there will be an equal
number of boys and girls in the Science Club this year?

Answer: (a)__ {3}

(o) (2]

13 SCORE
(Go on to the next page)




17.  The first four ﬁgures of a pattern formed using toothpicks are shown below.

Do not

write In
r-'l ] "’“"”""‘ this
. . space,
] 1|
Figure 1 Figure 2 Figure 3 Figure 4
The table below shows the number of toothpicks used for sach figure.
(a) Complete the table for Flgure 5 and Figure 6. {21
Figure number 1 2 3 4 5 B
alf) alii)
Number of
toothpicks used 7 o 12 15
(b}  Which figure would need 102 foothpicks to form?
Answer: (b) {3
End of Paper 2
14 SCORE
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Questions 16 to 20 carry 1 mark each. Write your answers in the spaces provided. Do not

For questions which require units, give your answers in the units stated. (5 marks) | write in
. R this

space.

16, Write nine million, two hundred and six thousand and thirty in numerais.

Answer:
17. Express 0.038 as a percentags.
Answerr
18. 24:15=40:
What is the missing number in the box?
Answer e

7 . :
19. Express 1g as a decimai .Correctyour answer to 2 decimal places.

Answer:

5 SCORE
(Go on to the next page)




20. Helen left the library at 6:27 p.m. She took 45 min 1o travel from the library to the | Do not
trawker centre. At what time did she reach the hawker centre? Give your answer in | wiite in
24-hour clock. this

spacse.
Answer:
7 SCORE

{Go on to the next page)




Questions 21 to 30 carry 2 marks each. Show your working clearly and write your answers

Do not

in the spaces provided. For questions which require units, give your answers in the units Wfife in
Stated, (20 marks) this
space.
21, In the figure below, AED is an isosceles triangle and ABCD is a parallelogram.
Find <EDC,
B C
107°
439
A D
Answer: ¢
22, Mdm Siti bought 0.9 kg of prawns at $36.45. How rnuch did 100 g of prawns cost?
|
Answer:$
8 SCORE
(Go on to the next page)




23, The solid below was dipped completely into a pail of blue paint. It was then cut Info | Do not
3 idenfical cubes and taken apart. The total unpainted area was 100 cm?. What was write in

the volume of each cube? this
space,

solid

Answer. _ cm?

R

24. A floral shop has 400 flowers. 30% of them are roses and the rest are sunflowers.
How many sunflowers does the floral shop have?

or e 20 vtn Saar #F b s g

AnSwer:

¢ 11 P ot 2 S e A B 2

9 SCORE
{Go on 1o the next page)




25, Humin had 15 m of ribbon. She cut the ribbon into as many equal pleces as possible, Do not

Each piece of ribbon was *g- m long. How much of the ribbon was left after that? x;]?ste in
' space.
Answer: ‘ m

26. The usual price of a sofa set was $650. Salirn bought it at a 20% discount.
How much did Salim pay for the sofa set?

Answer: $

10 SCORE
{Go on to the next page)




27. The table below shows the number of books borrowed by a class of 40 students. Do not
What percentags of students borrowed at least 2 books? gr_i!e in
i5
Number of books ‘Numbser of students -space.
borrowed
0 8
1 10
2 13
3 8
4 3
Answer: %
28. The difference in the areas of the fwo squares below is 28 cm?. Flnd the lengin f
AB.
o
. g ;
. !
AT !
4 ;
Answer: cm
11 SCORE

{Go on to the next page)




29. In the square grid below, AB and BC are 2 sides of 5 parallelogram ABCD. | Do not

Complete and label the parallelogram ABCD. write in
this
space.

A
B C

) 1 ..
30. Anna and Shawn had some stickers. After Anna gave Shawn 7 of her stickers,

Shawn had twice as many stickers as Anna. They had a total of 1170 stickers
altogether. How many stickers did Anna give to Shawn?

Answer. ___

End of Booklet B

12 SCORE







SCHOOL : MARIS STELLA PRIMARY SCHOOL

LEVEL : PRIMARY 6
SUBJECT : MATH
TERM -

2022 CA1

PAPER 1 BOOKLET A

PAPER 1 BOOKLET B

Q16) 9206030

Q17) 0.038x100=3.8%

Q18) 25

Q19) 1.78

Q20) 1912

Q21) 107-43=64
180-107-64=9

Q22) 9009=36.45
100g=36.45:9=$4.05

Q23) 125cm?®

Q24) 280

Q25) 15+4/5=15/1%5/4=75/4
=18/3/4
3/4%4/5=3/5

Q26) 52

Q27) 24/40%100%=60%

Q28) 8+6=14

Q29) : D

B C

Prepared By MR GAN @ 9299 8971, 8606 5443, 9247 5053



| Q30) 1170+9=130

Paper 2

1) 40+35+75=150
150+3=50

2) 960+2=480
480%x4=1920
1920ml=1.92/

3) <VRT 90-66=24
<XRS 90-48=42
<RXS 90-42=48

4) 4x3=12
12+2=6

5) 160+520+220+380=1280

1280+4=320

6) a) 18/25=72/100

=72%
b) 1600+25=64
64x10=640

7) 2u=244+384+244=872

1u=436
3u=1308

1308-244=1064

Prepared By MR GAN @ 9299 8971, 8606 5443, 9247 5053

Pg2



8) 0.45%16=7.2
16p+$7.20=22p
7.20+6=1.2
1.2x22=26.4
26.4%x2=$52.80

9) 35-20 =15
15+5=3
3+4=7

- 10) V2x14%x25=175
175-66=109
109%x2=218

11) a) 3x4=12

b) 252+ 2=84
84x4=336
336+12=28

12) 3u=405

1u=135
2u=270
270-6=264
264+12=22
13) a) 9u:15u
3u-10u
6:5
b) 11u=165
1u=15

13u=195

Prepared By MR GAN @ 9299 8971, 8606 5443, 9247 5053

Pg3



14) a) 3/5x60x50%30=54000
54litres
b) 60x50x12=36000
54000-36000=18000
18000+6=3000
3000=3litres
15) 1080+4=270
270x2=540
540+15=36
36-15=21
21x21=441
16) a) 3u=45
Tu=15
20u=300
b) 17u-6u=11u
156x11=165
17) a)i) 17 i) 20
b) 102-7=95
95+5=19
19x2=38

38+1=39

Prepared By MR GAN @ 9299 8971, 8606 5443, 9247 5053

Pg 4





